

**CERTAIN LIMITS OF FIBONACCI AND LUCAS SEQUENCES
AND FUNCTIONS**

D.M. BĂTINEȚU - GIURGIU, MIHÁLY BENCZE, DANIEL SITARU, NECULAI STANCIU -
ROMANIA

ABSTRACT. In this paper we present new limits of sequences and functions.

Fibonacci sequence: $(F_n)_{n \geq 0}, F_0 = 0, F_1 = 1, F_{n+2} = F_{n+1} + F_n, \forall n \in \mathbb{N}$.
Lucas sequence: $(L_n)_{n \geq 0}, L_0 = 2, L_1 = 1, L_{n+2} = L_{n+1} + L_n, \forall n \in \mathbb{N}$.

Theorem 1.

$$\lim_{n \rightarrow \infty} (\sqrt[n]{n!})^2 \left(\frac{\sqrt[n]{n!} L_n}{n^2} - \frac{\sqrt[n+1]{(n+1)! F_{n+1}}}{(n+1)^2} \right) = \frac{\alpha}{e^3} \left(1 + \frac{1}{2} \ln 5 \right)$$

Proof.

$$\text{We have } L_n = \alpha^n + \beta^n, F_n = \frac{\alpha^n - \beta^n}{\sqrt{5}}, \alpha = \frac{1 + \sqrt{5}}{2}, \beta = \frac{1 - \sqrt{5}}{2}$$

$$\begin{aligned} \lim_{n \rightarrow \infty} \frac{\sqrt[n]{n!} L_n}{n} &= \lim_{n \rightarrow \infty} \sqrt[n]{\frac{n! L_n}{n^n}} = \lim_{n \rightarrow \infty} \frac{(n+1)! L_{n+1}}{(n+1)^{n+1}} \cdot \frac{n^n}{n! L_n} = \\ &= \lim_{n \rightarrow \infty} \left(\frac{n}{n+1} \right) \frac{L_{n+1}}{L_n} = \frac{1}{e} \cdot \alpha = \frac{\alpha}{e}, \text{ and analogous } \lim_{n \rightarrow \infty} \frac{\sqrt[n]{n!} F_n}{n} = \frac{\alpha}{e}. \end{aligned}$$

If we denote $u_n = \frac{\sqrt[n]{n!} L_n}{\sqrt[n+1]{(n+1)! F_{n+1}}} \left(\frac{n+1}{n} \right)^2$, we deduce

$$\begin{aligned} \lim_{n \rightarrow \infty} u_n &= 1; \lim_{n \rightarrow \infty} \frac{u_n - 1}{\ln u_n} = 1 \text{ and} \\ \lim_{n \rightarrow \infty} u_n^n &= \lim_{n \rightarrow \infty} \frac{n! L_n}{(n+1)! F_{n+1}} \left(\frac{n+1}{n} \right)^{2n} \sqrt[n+1]{(n+1)! F_{n+1}} = \\ &= e^2 \lim_{n \rightarrow \infty} \frac{\sqrt[n+1]{(n+1)! F_{n+1}}}{n+1} \cdot \frac{L_n}{F_{n+1}} = \\ &= e^2 \cdot \frac{\alpha}{e} \cdot \lim_{n \rightarrow \infty} \frac{\sqrt{5}(\alpha^n + \beta^n)}{\alpha^{n+1} - \beta^{n+1}} = \alpha e \cdot \frac{\sqrt{5}}{\alpha} = e\sqrt{5} \end{aligned}$$

Hence,

$$\begin{aligned} \lim_{n \rightarrow \infty} (\sqrt[n]{n!})^2 \left(\frac{\sqrt[n]{n!} L_n}{n^2} - \frac{\sqrt[n+1]{(n+1)! F_{n+1}}}{(n+1)^2} \right) &= \lim_{n \rightarrow \infty} (\sqrt[n]{n!})^2 \cdot \frac{\sqrt[n+1]{(n+1)! F_{n+1}}}{(n+1)^2} (u_n - 1) = \\ &= \lim_{n \rightarrow \infty} \frac{(\sqrt[n]{n!})^2 \sqrt[n+1]{(n+1)! F_{n+1}}}{(n+1)^2} \cdot \frac{u_n - 1}{\ln u_n} \cdot \ln u_n = \\ &= \lim_{n \rightarrow \infty} \left(\frac{\sqrt[n]{n!}}{n} \right)^2 \frac{\sqrt[n+1]{(n+1)! F_{n+1}}}{n+1} \cdot \frac{n}{n+1} \cdot \frac{u_n - 1}{\ln u_n} \cdot \ln u_n^n = \end{aligned}$$

$$= \frac{1}{e^2} \cdot \frac{\alpha}{e} \cdot 1 \cdot 1 \cdot \ln(e\sqrt{5}) = \frac{\alpha}{e^3} \left(1 + \frac{1}{2} \ln 5\right)$$

□

Theorem 2.

If $m \in \mathbb{N}$, then:

$$\lim_{n \rightarrow \infty} n^{\cos^2 F_m} \left(\frac{1}{\sqrt[n+1]{(n+1)!}} \right)^{\sin^2 F_m} - \left(\frac{1}{\sqrt[n]{n!}} \right)^{\sin^2 F_m} = \frac{\sin^2 F_m}{e^{\sin^2 F_m}}$$

Proof.

We have well-known $\lim_{n \rightarrow \infty} \frac{\sqrt[n]{n!}}{n} = \frac{1}{e}$, so $\lim_{n \rightarrow \infty} \left(\frac{\sqrt[n]{n!}}{n} \right)^{\sin^2 F_m} = e^{-\sin^2 F_m}$.

We denote $u_n = \left(\frac{\sqrt[n+1]{(n+1)!}}{\sqrt[n]{n!}} \right)^{\sin^2 F_m}$, $\forall n \geq 2$, so $\lim_{n \rightarrow \infty} u_n = 1$ and $\lim_{n \rightarrow \infty} \frac{u_n - 1}{\ln u_n} = 1$.

$$\begin{aligned} \lim_{n \rightarrow \infty} u_n^n &= \lim_{n \rightarrow \infty} \left(\frac{(n+1)!}{n!} \right)^{\sin^2 F_m} \frac{1}{\left(\sqrt[n+1]{(n+1)!} \right)^{\sin^2 F_m}} = \\ &= \lim_{n \rightarrow \infty} \left(\frac{n+1}{\sqrt[n+1]{(n+1)!}} \right)^{\sin^2 F_m} = e^{\sin^2 F_m} \end{aligned}$$

$$\begin{aligned} \text{We have } x_n &\stackrel{\text{denote}}{=} n^{\cos^2 F_m} \left(\frac{1}{\sqrt[n+1]{(n+1)!}} \right)^{\sin^2 F_m} - \left(\frac{1}{\sqrt[n]{n!}} \right)^{\sin^2 F_m} = \\ &= n^{\cos^2 F_m} (u_n - 1) \left(\frac{1}{\sqrt[n]{n!}} \right)^{\sin^2 F_m} = \\ &= n^{\cos^2 F_m + \sin^2 F_m} \left(\frac{\sqrt[n]{n!}}{n} \right)^{\sin^2 F_m} (u_n - 1) = n \left(\frac{\sqrt[n]{n!}}{n} \right)^{\sin^2 F_m} \frac{u_n - 1}{\ln u_n} \ln u_n = \\ &= \left(\frac{\sqrt[n]{n!}}{n} \right)^{\sin^2 F_m} \frac{u_n - 1}{\ln u_n} \ln u_n^n. \end{aligned}$$

Hence,

$$\begin{aligned} \lim_{n \rightarrow \infty} n^{\cos^2 F_m} \left(\frac{1}{\sqrt[n+1]{(n+1)!}} \right)^{\sin^2 F_m} - \left(\frac{1}{\sqrt[n]{n!}} \right)^{\sin^2 F_m} &= \\ &= \lim_{n \rightarrow \infty} x_n = e^{-\sin^2 F_m} \cdot 1 \cdot \ln e^{\sin^2 F_m} = \frac{\sin^2 F_m}{e^{\sin^2 F_m}} \end{aligned}$$

□

Theorem 3.

$$\lim_{n \rightarrow \infty} \left(\int_{\sqrt[n]{n! F_n}}^{\sqrt[n+1]{(n+1)! F_{n+1}}} \sqrt{\frac{\sin^4 x + \cos^4 x}{8}} dx \right) \geq \frac{\alpha}{4e}.$$

Proof.

By Bergström's inequality we have

$$(1) \quad \sin^4 x + \cos^4 x \geq \frac{(\sin^2 x + \cos^2 x)^2}{2} = \frac{1}{2}$$

From (1) we deduce that

$$\begin{aligned} (2) \quad I_n &= \int_{\sqrt[n]{n! F_n}}^{\sqrt[n+1]{(n+1)! F_{n+1}}} \sqrt{\frac{\sin^4 x + \cos^4 x}{8}} dx \geq \\ &\geq \frac{1}{4} \int_{\sqrt[n]{n! F_n}}^{\sqrt[n+1]{(n+1)! F_{n+1}}} dx = \frac{1}{4} \left(\sqrt[n+1]{(n+1)! F_{n+1}} - \sqrt[n]{n! F_n} \right) \end{aligned}$$

Next, we have:

$$\begin{aligned}
 F_{n+2} - F_{n+1} - F_n = 0, \forall n \in \mathbb{N}^* &\Leftrightarrow \frac{F_{n+2}}{F_n} - \frac{F_{n+1}}{F_n} - 1 = 0 \Leftrightarrow \\
 &\Leftrightarrow \frac{F_{n+2}}{F_{n+1}} \cdot \frac{F_{n+1}}{F_n} - \frac{F_{n+1}}{F_n} - 1 = 0 \Rightarrow \\
 \Rightarrow \lim_{n \rightarrow \infty} \left(\frac{F_{n+2}}{F_{n+1}} \cdot \frac{F_{n+1}}{F_n} - \frac{F_{n+1}}{F_n} - 1 \right) = 0 &\Leftrightarrow x^2 - x - 1 = 0, \text{ where } x = \lim_{n \rightarrow \infty} \frac{F_{n+1}}{F_n} \\
 \text{so } x = \frac{1 \pm \sqrt{5}}{2}. \text{ Since } \frac{F_{n+1}}{F_n} > 0, \text{ yields } x = \lim_{n \rightarrow \infty} \frac{F_{n+1}}{F_n} = \frac{\sqrt{5} + 1}{2} = \alpha. \\
 \lim_{n \rightarrow \infty} \frac{\sqrt[n]{n!F_n}}{n} = \lim_{n \rightarrow \infty} \sqrt[n]{\frac{n!F_n}{n^n}} = \lim_{n \rightarrow \infty} \frac{(n+1)!F_{n+1}}{(n+1)^{n+1}} \cdot \frac{n^n}{n!F_n} = \lim_{n \rightarrow \infty} \frac{F_{n+1}}{F_n} \left(\frac{n}{n+1} \right)^n = \frac{\alpha}{e}.
 \end{aligned}$$

Therefore

$$\begin{aligned}
 &{}^{n+1}\sqrt{(n+1)!F_{n+1}} - \sqrt[n]{n!F_n} = \sqrt[n]{n!F_n}(u_n - 1) = \sqrt[n]{n!F_n} \cdot \frac{u_n - 1}{\ln u_n} \cdot \ln u_n = \\
 (3) \quad &= \frac{\sqrt[n]{n!F_n}}{n} \cdot \frac{u_n - 1}{\ln u_n} \cdot \ln u_n^n, \forall n \geq 2 \\
 &\text{where } u_n = \frac{{}^{n+1}\sqrt{(n+1)!F_{n+1}}}{\sqrt[n]{n!F_n}} \\
 \lim_{n \rightarrow \infty} u_n = \lim_{n \rightarrow \infty} \left(\frac{{}^{n+1}\sqrt{(n+1)!F_{n+1}}}{n+1} \cdot \frac{n}{\sqrt[n]{n!F_n}} \cdot \frac{n+1}{n} \right) &= \frac{\alpha}{e} \cdot \frac{e}{\alpha} \cdot 1 = 1, \text{ so} \\
 \lim_{n \rightarrow \infty} \frac{u_n - 1}{\ln u_n} &= 1, \text{ and} \\
 \lim_{n \rightarrow \infty} u_n^n = \lim_{n \rightarrow \infty} \frac{(n+1)!F_{n+1}}{n!F_n} \cdot \frac{1}{{}^{n+1}\sqrt{(n+1)!F_{n+1}}} &= \lim_{n \rightarrow \infty} \frac{F_{n+1}}{F_n} \cdot \frac{n+1}{{}^{n+1}\sqrt{(n+1)!F_{n+1}}} = \\
 &= \alpha \cdot \frac{e}{\alpha} = e.
 \end{aligned}$$

By (3) we obtain

$$(4) \quad \lim_{n \rightarrow \infty} \left({}^{n+1}\sqrt{(n+1)!F_{n+1}} - \sqrt[n]{n!F_n} \right) = \frac{\alpha}{e} \cdot 1 \cdot \ln \left(\lim_{n \rightarrow \infty} u_n^n \right) = \frac{\alpha}{e} \cdot \ln e = \frac{\alpha}{e} \cdot 1 = \frac{\alpha}{e}$$

From (2) and (4) yields the desired conclusion. \square

Theorem 4.

$$\lim_{n \rightarrow \infty} \left(\int_{\sqrt[n]{n!L_n}}^{{}^{n+1}\sqrt{(n+1)!L_{n+1}}} \sqrt[3]{\frac{\sin^6 x + \cos^6 x}{16}} dx \right) \geq \frac{\alpha}{4e}.$$

Proof.

By Radon's inequality we have

$$(1) \quad \sin^6 x + \cos^6 x \geq \frac{(\sin^2 x + \cos^2 x)^3}{2^2} = \frac{1}{4}$$

From (1) we deduce that

$$I_n = \int_{\sqrt[n]{n!L_n}}^{{}^{n+1}\sqrt{(n+1)!L_{n+1}}} \sqrt[3]{\frac{\sin^6 x + \cos^6 x}{16}} dx \geq \int_{\sqrt[n]{n!L_n}}^{{}^{n+1}\sqrt{(n+1)!L_{n+1}}} \sqrt[3]{\frac{1}{4^3}} dx =$$

$$(2) \quad = \frac{1}{4} \int_{\sqrt[n]{n!L_n}}^{\sqrt[n+1]{(n+1)!L_{n+1}}} dx = \frac{1}{4} (\sqrt[n+1]{(n+1)!L_{n+1}} - \sqrt[n]{n!L_n})$$

Now,

$$L_{n+2} - L_{n+1} - L_n = 0, \forall n \in \mathbb{N}^* \Leftrightarrow \frac{L_{n+2}}{L_n} - \frac{L_{n+1}}{L_n} - 1 = 0 \Leftrightarrow \frac{L_{n+2}}{L_{n+1}} \cdot \frac{L_{n+1}}{L_n} - \frac{L_{n+1}}{L_n} - 1 = 0 \Rightarrow$$

$$\Rightarrow \lim_{n \rightarrow \infty} \left(\frac{L_{n+2}}{L_{n+1}} \cdot \frac{L_{n+1}}{L_n} - \frac{L_{n+1}}{L_n} - 1 \right) = 0 \Leftrightarrow x^2 - x - 1 = 0, \text{ where } x = \lim_{n \rightarrow \infty} \frac{L_{n+1}}{L_n}, \text{ so}$$

$$x = \frac{1 \pm \sqrt{5}}{2}.$$

$$\text{Since } \frac{L_{n+1}}{L_n} > 0, \text{ yields } x = \lim_{n \rightarrow \infty} \frac{L_{n+1}}{L_n} = \frac{\sqrt{5} + 1}{2} = \alpha.$$

We deduce

$$\lim_{n \rightarrow \infty} \frac{\sqrt[n]{n!L_n}}{n} = \lim_{n \rightarrow \infty} \sqrt[n]{\frac{n!L_n}{n^n}} = \lim_{n \rightarrow \infty} \frac{(n+1)!L_{n+1}}{(n+1)^{n+1}} \cdot \frac{n^n}{n!L_n} = \lim_{n \rightarrow \infty} \frac{L_{n+1}}{L_n} \left(\frac{n}{n+1} \right)^n = \frac{\alpha}{e}.$$

We have

$$\sqrt[n+1]{(n+1)!L_{n+1}} - \sqrt[n]{n!L_n} = \sqrt[n]{n!L_n}(u_n - 1) = \sqrt[n]{n!L_n} \cdot \frac{u_n - 1}{\ln u_n} \cdot \ln u_n =$$

$$(3) \quad = \frac{\sqrt[n]{n!L_n}}{n} \cdot \frac{u_n - 1}{\ln u_n} \cdot \ln u_n^n, \forall n \geq 2$$

$$\text{where } u_n = \frac{\sqrt[n+1]{(n+1)!L_{n+1}}}{\sqrt[n]{n!L_n}}.$$

$$\lim_{n \rightarrow \infty} u_n = \lim_{n \rightarrow \infty} \left(\frac{\sqrt[n+1]{(n+1)!L_{n+1}}}{n+1} \cdot \frac{n}{\sqrt[n]{n!L_n}} \cdot \frac{n+1}{n} \right) = \frac{\alpha}{e} \cdot \frac{e}{\alpha} \cdot 1 = 1$$

$$\text{so } \lim_{n \rightarrow \infty} \frac{u_n - 1}{\ln u_n} = 1, \text{ and}$$

$$\begin{aligned} \lim_{n \rightarrow \infty} u_n^n &= \lim_{n \rightarrow \infty} \frac{(n+1)!L_{n+1}}{n!L_n} \cdot \frac{1}{\sqrt[n+1]{(n+1)!L_{n+1}}} = \lim_{n \rightarrow \infty} \frac{L_{n+1}}{L_n} \cdot \frac{n+1}{\sqrt[n+1]{(n+1)!L_{n+1}}} = \\ &= \alpha \cdot \frac{e}{\alpha} = e. \end{aligned}$$

By (3) we obtain

$$(4) \quad \lim_{n \rightarrow \infty} (\sqrt[n+1]{(n+1)!L_{n+1}} - \sqrt[n]{n!L_n}) = \frac{\alpha}{e} \cdot 1 \cdot \ln(\lim_{n \rightarrow \infty} u_n^n) = \frac{\alpha}{e} \cdot \ln e = \frac{\alpha}{e} \cdot 1 = \frac{\alpha}{e}$$

From (2) and (4) yields the desired conclusion. \square

Theorem 5.

$$\text{If } a > 0, \text{ then } \lim_{n \rightarrow \infty} \sqrt[n]{n!F_n}(\sqrt[n]{a} - 1) = \frac{\alpha}{e} \ln a.$$

Proof.

$$\begin{aligned}
 & \text{Since } \sqrt[n]{n!F_n}(\sqrt[n]{a}-1) = \sqrt[n]{n!F_n}\left(e^{\frac{\ln a}{n}}-1\right) = \sqrt[n]{n!F_n} \cdot \frac{e^{\frac{\ln a}{n}}-1}{\frac{\ln a}{n}} \cdot \frac{\ln a}{n} = \\
 & = \sqrt[n]{\frac{n!F_n}{n^n}} \cdot \frac{e^{\frac{\ln a}{n}}-1}{\frac{\ln a}{n}} \cdot \ln a, \text{ we have } \lim_{n \rightarrow \infty} \sqrt[n]{n!F_n}(\sqrt[n]{a}-1) = \ln a \cdot 1 \cdot \lim_{n \rightarrow \infty} \sqrt[n]{\frac{n!F_n}{n^n}} = \\
 & = \ln a \cdot \lim_{n \rightarrow \infty} \frac{(n+1)!F_{n+1}}{(n+1)^{n+1}} \cdot \frac{n^n}{n!F_n} = \ln a \cdot \lim_{n \rightarrow \infty} \frac{F_{n+1}}{F_n} \left(\frac{n}{n+1}\right)^n = \frac{\alpha}{e} \ln a
 \end{aligned}$$

□

Theorem 6.

$$\text{If } a > 0, \text{ then } \lim_{n \rightarrow \infty} \sqrt[n]{(2n-1)!!F_n}(\sqrt[n]{a}-1) = \frac{2\alpha}{e} \ln a.$$

Proof.

$$\begin{aligned}
 & \text{Since } \sqrt[n]{(2n-1)!!F_n}(\sqrt[n]{a}-1) = \sqrt[n]{(2n-1)!!F_n}\left(e^{\frac{\ln a}{n}}-1\right) = \\
 & = \sqrt[n]{(2n-1)!!F_n} \cdot \frac{e^{\frac{\ln a}{n}}-1}{\frac{\ln a}{n}} \cdot \frac{\ln a}{n} = \sqrt[n]{\frac{(2n-1)!!F_n}{n^n}} \cdot \frac{e^{\frac{\ln a}{n}}-1}{\frac{\ln a}{n}} \cdot \ln a, \\
 & \text{we have } \lim_{n \rightarrow \infty} \sqrt[n]{(2n-1)!!F_n}(\sqrt[n]{a}-1) = \ln a \cdot 1 \cdot \lim_{n \rightarrow \infty} \sqrt[n]{\frac{(2n-1)!!F_n}{n^n}} = \\
 & = \ln a \cdot \lim_{n \rightarrow \infty} \frac{(2n+1)!!F_{n+1}}{(n+1)^{n+1}} \cdot \frac{n^n}{(2n-1)!!F_n} = \ln a \cdot \lim_{n \rightarrow \infty} \frac{2n+1}{n+1} \cdot \frac{F_{n+1}}{F_n} \left(\frac{n}{n+1}\right)^n = \frac{2\alpha}{e} \ln a.
 \end{aligned}$$

□

Theorem 7.

If $a > 0$ and $(b_n)_{n \geq 1}$ is a positive real sequence with $\lim_{n \rightarrow \infty} \frac{b_{n+1}}{nb_n} = b > 0$, then

$$\lim_{n \rightarrow \infty} \sqrt[n]{b_n F_n}(\sqrt[n]{a}-1) = \frac{\alpha b}{e} \ln a.$$

Proof.

$$\begin{aligned}
 & \text{Since } \sqrt[n]{b_n F_n}(\sqrt[n]{a}-1) = \sqrt[n]{b_n F_n}\left(e^{\frac{\ln a}{n}}-1\right) = \sqrt[n]{b_n F_n} \cdot \frac{e^{\frac{\ln a}{n}}-1}{\frac{\ln a}{n}} \cdot \frac{\ln a}{n} = \\
 & = \sqrt[n]{\frac{b_n F_n}{n^n}} \cdot \frac{e^{\frac{\ln a}{n}}-1}{\frac{\ln a}{n}} \cdot \ln a, \text{ we have } \lim_{n \rightarrow \infty} \sqrt[n]{b_n F_n}(\sqrt[n]{a}-1) = \ln a \cdot 1 \cdot \lim_{n \rightarrow \infty} \sqrt[n]{\frac{b_n F_n}{n^n}} = \\
 & = \ln a \cdot \lim_{n \rightarrow \infty} \frac{b_{n+1} F_{n+1}}{(n+1)^{n+1}} \cdot \frac{n^n}{b_n F_n} = \ln a \cdot \lim_{n \rightarrow \infty} \frac{b_{n+1}}{nb_n} \cdot \frac{F_{n+1}}{F_n} \left(\frac{n}{n+1}\right)^{n+1} = \frac{\alpha b}{e} \ln a.
 \end{aligned}$$

□

Theorem 8.

$$\lim_{n \rightarrow \infty} n^2 \sqrt[n]{n!F_n} \sin \frac{1}{n^3} = \frac{\alpha}{e}.$$

Proof.

$$\begin{aligned} \text{Since } n^2 \sqrt[n]{n!F_n} \sin \frac{1}{n^3} &= \frac{\sqrt[n]{n!F_n}}{n} \cdot n^3 \cdot \sin \frac{1}{n^3} = \frac{\sin \frac{1}{n^3}}{\frac{1}{n^3}} \cdot \sqrt[n]{\frac{n!F_n}{n^n}}, \text{ then} \\ \lim_{n \rightarrow \infty} n^2 \sqrt[n]{n!F_n} \sin \frac{1}{n^3} &= 1 \cdot \lim_{n \rightarrow \infty} \sqrt[n]{\frac{n!F_n}{n^n}} = \lim_{n \rightarrow \infty} \frac{(n+1)!F_{n+1}}{(n+1)^{n+1}} \cdot \frac{n^n}{n!F_n} = \\ &= \lim_{n \rightarrow \infty} \frac{F_{n+1}}{F_n} \left(\frac{n}{n+1}\right)^n = \frac{\alpha}{e}. \end{aligned}$$

□

Theorem 9.

$$\lim_{n \rightarrow \infty} n \sqrt[n]{(2n-1)!!F_n} \sin \frac{1}{n^2} = \frac{2\alpha}{e}.$$

Proof.

$$\begin{aligned} \text{Since } n \sqrt[n]{(2n-1)!!F_n} \sin \frac{1}{n^2} &= \frac{\sqrt[n]{(2n-1)!!F_n}}{n} \cdot n^2 \cdot \sin \frac{1}{n^2} = \frac{\sin \frac{1}{n^2}}{\frac{1}{n^2}} \cdot \sqrt[n]{\frac{(2n-1)!!F_n}{n^n}}, \\ \text{then } \lim_{n \rightarrow \infty} n \sqrt[n]{n!F_n} \sin \frac{1}{n^2} &= 1 \cdot \lim_{n \rightarrow \infty} \sqrt[n]{\frac{(2n-1)!!F_n}{n^n}} = \\ = \lim_{n \rightarrow \infty} \frac{(2n+1)!!F_{n+1}}{(n+1)^{n+1}} \cdot \frac{n^n}{(2n-1)!!F_n} &= \lim_{n \rightarrow \infty} \frac{2n+1}{n+1} \cdot \frac{F_{n+1}}{F_n} \left(\frac{n}{n+1}\right)^n = \frac{2\alpha}{e}. \end{aligned}$$

□

REFERENCES

- [1] Romanian Mathematical Magazine - Interactive Journal, www.ssmrmh.ro

MATHEMATICS DEPARTMENT, NATIONAL ECONOMIC COLLEGE "THEODOR COSTESCU", DROBETA
TURNU - SEVERIN, ROMANIA

Email address: dansitaru63@yahoo.com